

SUPPLEMENTAL WORK AUTHORIZATION NO. 1 TO WORK AUTHORIZATION NO. 4

PROJECT: Expo Center Various Improvements; Parks Bond A ("Project")

PLANNER/ LANDSCAPE

ARCHITECT: Kleinfelder, Inc. ("A/E")

Kelly Daniel, Operations Manager

11100 Metric Blvd., Suite 100

Austin, Texas 78758

COUNTY'S DESIGNATED

REPRESENTATIVE: Williamson County Parks Department

Attn: Director of Parks 219 Perry Mayfield Leander, Texas 78641

THIS SUPPLEMENTAL WORK AUTHORIZATION NO. 1 TO WORK AUTHORIZATION NO. 4, is made pursuant to the terms and conditions of the <u>On-Call Materials Testing and Geotechnical Services</u>, dated May 5, 2020, and becomes effective as of the latest date of the signatories indicated at the conclusion of this document (the "Effective Date"), by and between Williamson County, a body corporate and politic under the laws of the State of Texas ("County") and A/E.

ARTICLE 1

The Planning, Design and Engineering Services provided by A/E under the Work Authorization are hereby modified as set forth in **Attachment A** of this Supplemental Work Authorization.

ARTICLE 2

The maximum amount payable to A/E for Basic Services under the Work Authorization is hereby increased from Five Thousand, Five Hundred Dollars (\$ 5,500), to Six Thousand, Eight Hundred and Forty Dollars (\$ 6,840), as set forth in Attachment B of this Supplemental Work Authorization. Payment to A/E for the services established under this Supplemental Work Authorization shall be made in accordance with the Agreement.

ARTICLE 3

The above referenced Work Authorization termination date shall not be modified in this Supplemental Work Authorization. The Planning, Design and Engineering Services set forth in **Attachment A** of this Supplemental Work Authorization shall be fully completed on or before said date unless extended by an additional Supplemental Work Authorization.

ARTICLE 4

This Supplemental Work Authorization does not waive the parties' responsibilities and obligations provided under the Agreement.

ARTICLE 5

County believes it has sufficient funds currently available and authorized for expenditure to finance the costs of this Supplemental Work Authorization. A/E understands and agrees that County's payment of amounts under this Supplemental Work Authorization is contingent on County receiving appropriations or other expenditure authority sufficient to allow County, in the exercise of reasonable administrative discretion, to continue to make payments under the Agreement. It is further understood and agreed by A/E that County shall have the right to terminate the Supplemental Work Authorization at the end of any County fiscal year if the governing body of County does not appropriate sufficient funds as determined by County's budget for the fiscal year in question. County may affect such termination by giving written notice of termination to A/E.

ARTICLE 6

This Supplemental Work Authorization is hereby accepted and acknowledged below.

A/E:	WILLIAMSON COUNTY:				
Kleinfelder, Inc.					
By: Kelly Daniel	By: Bill Gravell (Oct 20, 2021 07:56 CDT)				
Signature Signature	Signature				
Kelly Daniel	Bill Gravell				
Printed Name	Printed Name				
Operations Manager	County Judge				
Title	Title				
Date Signed: October 11, 2021	Date Signed: Oct 20, 2021				

ATTACHMENT A

BASIC SCOPE OF SERVICES

THE FOLLOWING SCOPE OF SERVICES IS INTENDED TO BE CONSISTENT WITH THE AGREEMENT. TO THE EXTENT THIS SCOPE OF SERVICES IS INCONSISTENT WITH THE AGREEMENT, THE AGREEMENT WILL SUPERSEDE THE SCOPE OF SERVICES AND WILL BE CONTROLLING.

In consideration of the Basic Fee provided in the Agreement, A/E shall perform the following Basic Services, based on standard planning, landscape architectural, architectural and engineering practices:

SCOPE OF WORK:

Williamson County Expo Center 5350 Bill Pickett Trail, Taylor, TX 76574 Precinct 4 Bond Program 2020-A P-562

ESTINATED					ACTUALS			
Soils Observation and Testing Services	# Trips (ea)	Hrs Trip (ea)	Total hrs	Rate	Cost	Total hrs	Rate	Cost
Field Tech Time (onsite only, 2-hr minimum)	3	3	9	\$60.00	\$540,00	16.5	\$60.00	\$990.00
Field Nuclear Density Test			18	\$28.00	\$504.00	49	\$28.00	\$1,372.00
Field Tech Time (proctor pick up)	1	3	3	\$60.00	\$180.00	6	\$60.00	\$360.00
Soils Laboratory Testing			Total (ea)			Total (ea)		
Moisture Density Relationhip (D696) Compaction Test			3	\$240.00	\$720,00	3	\$240.00	\$720.00
Atterberg Limits (Liquid and Plastic Limits) (TEX-104, 105, 1)	09-E)		3	\$79.00	\$237.00	3	\$79.00	\$237.00
Sieve Analysis (TEX-110-E)			2	\$85.00	\$170.00	3	\$85.00	\$255.00
Vehicle/Round Trip Charge	4		4	\$50.00	\$200.00	4	\$50.00	\$200.00
Hot Illix Asphalt testing								
Technician- Field Tech Time (on-site only, 2-hr minimum)	1	В	8	\$60.00	\$480.00	7.75	\$60.00	\$465.00
Field Nuclear Density Test			12	\$28.00	\$336.00	8	\$28.00	\$224.00
·	(weeks)	(hours)	(hours)			(hours)		
Project Manager - Project Management/Review	3	0.75	2.25	\$145.00	\$326.25	9.25	\$145.00	\$1,341.25
Administrator	3	0.5	1.5	\$47.00	\$100.50	8.25	\$67.00	\$552.75
Project Administrator	3	0.5	1.5	\$82.00	\$123,00	1.5	\$82.00	\$123.00
							Actuals total \$	6,840.00
							WA Total: \$	5,500.00
							CO: \$	1,340.00

ATTACHMENT B

FEE SCHEDULE

This schedule indicates fees by Phase of the Basic Fee:	\$	1,340	100%
100% Kleinfelder, Inc.	\$	1,340	
Phase VI - CONSTRUCTION MATERIALS AND TESTING		1,340	100%
Kleinfelder, Inc.	\$	1,340	
[Subconsultant #1]	\$	-	